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: 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B - ~ — — —
Thilst 1.00 | 000 ~ 469 5845 | #hiust | 000 ~ 469 1.83 9.79 Thilst 100 | 500 ~ 5.00 5845 | #hlust | 500 ~ 500 | 1.83 9.79
’ 100kN/mi%#8x%| 1.00| 000 ~ 0.36 105.28 | 3m%#BZ 5 -~ — - —|[ 100kN/mi%#8z%| 1.00 1054 ~ 1152 105.28 |3m%HBZ 5 -~ - - -
Zhst 1.00| 036 ~ 8.14 100.00 | Zh kst | 000 ~ 814 | 217 11.60 Fhst 1.00| 500 ~ 1054 100.00 | #h kst | 500 ~ 1152 | 2.17 11.60
5 100kN/M#E#B % % — -~ — —|3m%EEZD -~ — — —| 100kN/M%#B %% — -~ — —|3m%EHBZ3 -~ — — —
Fhst 1.00 | 000 ~ 559 69.80 [ #h s | 000 ~ 559 | 1.84 9.82 Fhst 100 | 500 ~ 6.30 69.80 | h st | 500 ~ 630 | 1.84 9.82
4 100kN/mi%#8%25| 100| 000 ~ 045 106.69 |3m%#Z 3 -~ - - —|[ 100kN/mM%#%%| 1.00|10.64 ~ 11.95 106.69 |3m%#Z3 -~ — — -
Zhst 100 | 045 ~ 824 100.00 | ZhList | 000 ~ 824 | 212 11.33 Fhst 100 | 500 ~ 1064 100.00 | #h kst | 500 ~ 1195 2.12 11.33
5 100kN/m##8%2%| 1.00| 000 ~ 1.19 117.97 |3mE#A3 -~ - - —|[ 100kN/m%#%%| 1.00 |10.53 ~ 14.25 117.97 |3m%E#A3 -~ — — —
Zh st 1.00| 1.19 ~ 897 100.00 | #hkist | 000 ~ 897 | 220 11.75 Thst 1.00| 500 ~ 1053 100.00 | #h kst | 500 ~ 1425 2.20 11.75
6 100kN/m##8%%| 1.00| 000 ~ 144 121.96 |3m%#2 3 -~ - - —|[ 100kN/m%#2%%| 1.00|10.66 ~ 15.32 121.96 |3m%#23 — ~ — — —
Zhst 1.00| 144 ~ 923 100.00 | Zhlist | 000 ~ 923 | 247 13.20 Zhst 1.00 | 500 ~ 10.66 100.00 | Zhlist | 500 ~ 1532 | 247 13.20
. 100kN/mi##8%25| 1.00| 000 ~ 0.61 109.12 |3m%#A 3 -~ - - —|[ 100kN/m%E#%%| 1.00 |1055 ~ 12.27 109.12 |3m%E#A 5 -~ — — -
Zhst 1.00 | 061 ~ 840 100.00 | ZhList | 000 ~ 840 | 222 11.89 Fhst 1.00| 500 ~ 1055 100.00 | #hlist | 500 ~ 1227 | 2.22 11.89
8 100kN/m##8%2%| 1.00| 000 ~ 1.06 11590 |3m%#Z 3 -~ - - —|[ 100kN/m%#%%| 1.00|1053 ~ 13.75 115.90 |3m%#Z3 — ~ — — —
Fhst 1.00| 1.06 ~ 884 100.00 | #hkist | 000 ~ 884 | 220 11.76 Fhst 1.00| 500 ~ 1053 100.00 | #h kst | 500 ~ 13.75| 2.20 11.76
0 100kN/mi%#8%2%| 100| 000 ~ 122 118.46 |3m%#Z 3 -~ - - —|[ 100kN/mM%#%%| 1.00 |1053 ~ 14.36 11846 |3m%#Ai 3 -~ — — -
Zhst 1.00| 122 ~ 901 100.00 | #h kst | 000 ~ 9.01| 220 11.79 Fhst 1.00| 500 ~ 1053 100.00 | #h kst | 500 ~ 1436 | 2.20 11.79
10 100kN/m%#8%25%| 1.00| 000 ~ 1.08 116.20 |3m%#BZ 3 -~ - — —|[ 100kN/mMi%E#Z%| 1.00 1057 ~ 13.82 116.20 |3m%#BZ % -~ - — —
Thist 1.00| 1.08 ~ 8.6 100.00 | #h 5t | 000 ~ 886 | 2.23 11.94 Thilst 1.00 | 500 ~ 1057 100.00 | Zhkist | 500 ~ 1382 2.23 11.94
» 100kN/mM#%#B % % — - ~ — —|3m%EFHBZAD -~ — — —| 100kN/m#%#EZ % — -~ — —|3mZx#EZB -~ — — —
Thilst 1.00 | 000 ~ 4.76 59.31 | #h st | 000 ~ 0.00( 1.68 9.01 Thils 1.00| 500 ~ 5.00 59.31 | #hst | 500 ~ 500 | 1.68 9.01
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ zhns ~ zns ~ zhs ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
Thist ~ Thilst ~ Thilst ~ Thist ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzhn st ~ zhn st ~ Zzh st ~
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